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Materials
For this paper you must have:
e an AQA 16-page answer book.

Instructions

e Use black ink or black ball-point pen.

e Write the information required on the front of your answer book. The Paper Reference is
7041/2S.

¢ Answer two questions.
In Section A answer Question 01.
In Section B answer either Question 02 or Question 03.

Information
e The marks for questions are shown in brackets.
¢ The maximum mark for this paper is 50.
¢ You will be marked on your ability to:
— use good English
— organise information clearly
— use specialist vocabulary where appropriate.

Advice

e You are advised to spend about:
— 50 minutes on Section A
— 40 minutes on Section B.
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Section A

Answer Question 01.

Source A

From a speech during a debate on the state of the British economy in the House of
Commons, by George Brown, Minister for Economic Affairs, 4 November 1964.

It is clearly apparent to the House and to the country that our first major task as a

government must be to take urgent action to deal with the serious deterioration in our

trading position and to prepare long-term measures to restore the health of the economy.

As early as last year, Conservative ministers tried quite deliberately to mislead the

electorate, presenting them with false information on the strength of our economic 5
situation. Happily, the country saw through the half-truths and untruths. We now have to

act decisively to deal with the gigantic economic mess the Conservative Party has left

behind. There will be no more short-term panic measures. We have turned our back on
stop-go.

Source B
From ‘Anatomy of Britain Today’ by Anthony Sampson, 1965. Sampson, a writer and

journalist, interviewed 200 prominent individuals for this bestselling book about changes in
British social attitudes.

Source B not reproduced here due to third party copyright restrictions.

With reference to these sources and your understanding of the historical context, which
of these two sources is more valuable in explaining why the Conservatives lost the
October 1964 election?
[25 marks]
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Section B

Answer either Question 02 or Question 03.

Either

‘The liberal reforming legislation, in the years 1964 to 1970, was the result of the
Labour government’s determination to modernise Britain.’

Explain why you agree or disagree with this view.
[25 marks]

or

(03| ‘Race relations in Britain worsened in the 1970s.’

Explain why you agree or disagree with this view.
[25 marks]

END OF QUESTIONS
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There are no questions printed on this page
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